EARAROBEEIERT — 2 N— IBISH —F

2019547138 (£) 3EIF7H

m#3%4ﬁi 500ATF (GR®) TE ‘ [Xiz] % ‘ [eErsm]  — |2 (&) 16000 B
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= PN Al A :34. -9 . . SiEE (ER
118l1al 3 =307 UtZ 5 | Al 1(3_4)1 9-9-9 |34.9]95.9 | 7 (5_326) gl
Z:vn7x Bik-U-T79> J—HrTy—LA
. = AaisiE :34. -3~ . . =iEE (ER)
olgligl Sk TALT H o4 2] (11314/23) 6-3-3 |35.6| 94.0 | 6 (Tf) [ebidil g
LT TANIVE BN=F T 0T #H BhE
—: e, o 4 5 | HEHEEER 1:34.4 1-1-1 36.0| 93.0 | 8 476 | KFER (E@)
3(7[12|®T 1 AN=3~ 8.0 (7E) g | HEER
LG4 T*rTv— B:T) XDy b HET7—L
sy 5 i 5 | ZHEZ :34.4 14-13-12 [34.8| 92.8 | 9 468 | FHEITEX (Eid)
4|57 |7—VLTI— 57.0 (NF) (6) | ARSI LY
R:FA—TANT N BILCYLEY K J—H T — L
v 5 s 4 | IERS 1:34.4 12-12-12 [ 34.9| 92.9 | 12 | 460 |KEFHR— (i)
5 4| TR/ AV 55.0 (NF) (-10) | PR
LG4 7 hT—EY B:FIX/T1FF BhHFREMASHIVAT RS
G i 4 | FlBEX 1:34.4 4-5-5 |35.5(92.9 [ 1 454 | REFE— (EH)
658 TrIl—L 55.0 () (-2) (B) ¥*+By ~T7—L
LNnN—ErTr— B:YvI2 LT o J—HrTr—LA
4 4 | KEFHRIR 1:34.4 2-3-3 35.7| 93.0 | 3 454 | KTTIETE ()
7 @10 TV - b 8.0 757) (o) | HEFER
L:n-I>JUr BiRXT7 F—K-—F HET7—L
S= o, (O 4 | ELDIRME 1:34.5 6-7-9 [35.5|91.9 | 5 482 | EIRIERAC (553R)
sl 2| 77~ FELT Y b i 5.0 (7E) © |, 08 HAEL=ZK-2
R:O0—-KAH+A7 B:¥L~< HET7—L
= B4 | BBESE 1:34.5 12-13-14 [34.9] 91.8 | 4 440 | AREEL FH)
ol g | TURZT b 55.0 (7€) o | @ N CERA
R:F4—TA>nN7 s B:o)ITL—X J—=HrTp—L
S = o 4 5 | AEEE 1:34.5 1-9-7 [35.3] 91.9 | 11 472 | ML (EiH)
10gls5 | NArTT7=2X 5.0 (N o) | W) EFH-Ty—s-x-2=%
LN=YT754 B:NZArT—F LK
. . HRERS 34, -9~ 31 9. FEEA (EH)
a1l zEU Y RysL # 5 | BRES o7 X R el el B I F ¥
L:N—=YT7514 B:NAKNYUR v SN
R [ L e N: : -5- ENGIEE D))
I 3| 7= rvaTy— it 4 P 1(7311:)7 4-5-5 |35.8| 89.9 | 14 (ﬁi) el
L:Nn—E>Yv— BIIZXTNEC b HET7—L
on e = = HHE :35. -2, . . =g ()
131 7 111 INORZTH2T7 > * 5 55.0 (11335/40) ze2 %5 87.3 10 (i?g) %ﬂ%;ﬁgi
LT RIAYT w8y BN—FoT427> #HH BhE
S8 S EEEE(T :35. ~7- . . ERE (EH)
14 9| ®Y v 1T [B] I 570 1(;?/54)1 b7 | 3.1 8.0 18 f;) (#%) DNEERF— T
LAY TN—2) B:x2/T757— =H XA
@ 21 L
£y 47.6-35.7
NaO>a24 L | 12.6-11.2-11.2-11.5-11.9-11.7-11.9-12.1
® I—F—@EBIERL
13—7-
20—4— 12(10,11) (3,8) (2,9,13)-(1,14)5(4,6)7
33—+ — 12,11(10,13) (3,8) (2,9) (14,1,5)4(7,6)
Mal=5r= (¥12,11) (10,13) (3,8) (9,5) (2,14,1) (7,4)6
[ RN
B R 14 1,080M | | 71 K 13-14 940 | | # = 8-8 3,210 | | 3=/ | 12-13-14 12,690
B B 14 350H 12-14 1,860M B E 13-14 3,300 3EE | 14-13-12 58,990
13 330M 12-13 1,610 B H 14-13 6,950
12 450M

ABICOVWTRDTEEERROODE. TR LIV,



